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HAD| 1,000,000 = 1CH 1,000
A ECHe| 0l 300,000 =1CH 300
AN =H 84 2,665,675 2,630,546 35,129
T 512,000
Al 2,153,675
=&H 1,961,721 1,985,431 N23,710
= 500,000
Al 1,461,721
NEhE 3= X3 561,721 585,431 N23,710
201 LEt2 A Y| 78,500 76,300 2,200
01 At 22l Yl 78,500 76,300 2,200
OM918l =StMl SAX S AHI(HEH)
8,000& =1,200& 9,600
OHM91a =& M TIHASALAF 24|
8,000& 104 *30L! 41 & 9,600
O#A g SUS 7Y 30,000& x100& 3,000
OM91a =stMl EL(H=2AH2XETHE) 36,300
OHM91a =& M #AMISIA, AME 49 20,000
202 (4] 5,000 5,000 0
01 2L Y| 5,000 5,000 0
OXNYUHESAN=H gRFA 2,000
O XX #X oL 3,000
307 21240 & 228,221 254,131 A25,910
02 DIZtBAAMEE X 118,000 118,000 0
OM91a =M =S UME 6,000
OHM91sl =&HM E&8elllis 4,000
OHMI1E =M Z=SAIHHUEHT 3,000
OM91a =&Its &&2I1U3l 5,000
OFgM AlQstetstory 100,000
03 AN EE2EHE=X 110,221 136, 131 N 25,910
O=&H MR= 2H(3Y) 110,221
IHAHI(EHE, 3H, 5R) 100,021
SE5R2= 750,000& =121 & 9,000
= ZH| 100,000& * 1270 & 1,200
401 Al HI L 2 THHI 250,000 250,000 0
01 Al &bl 250,000 250,000 0
OM91e =M RUEXES 250,000
NeEUE BH0M=sH XN (EX) 1,400,000 1,400,000 0
& 500,000
Al 900,000
307 212t01 & 1,400,000 1,400,000 0
T 500,000




parn)

SN BB
g g =M 54
sel ESM =
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 900,000
04 QIZFHALAIH E = 1,400,000 1,400,000 0
OHM91al =& Hl 1,400,000
ANAE SHM=MAA 1,400,000
< 500,000
Al 900,000
sHHE =M XA 703,954 645,115 58,839
< 12,000
Al 691,954
D2 2 ==Hl 15,000 15,000 0
307 gl2tol & 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0
ORMI33al Xielat WAIS D24 2bH 15,000
Hiehs =2 =H 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
04 QIZFHALAIH 2 = 20,000 20,000 0
OHM 108l Xield dtehs =2 =H 20,000
tiehs 2= 15,000 15,000
307 21201 A 15,000 15,000 0
04 QIZFHALAIH B = 15,000 15,000 0
OXM262 Xleld ditehs Z2EH 15,000
Sste F2EH 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000
OHM255 €2 St E2ET 10,000
Aelat eHZ R 10,000 10,000
307 glz2tol & 10,000 10,000
04 DIZHHALALSE E X 10,000 10,000
OHMI448! Xiclat BAtE S 10,000
S&A 473,850 469, 150 4,700
201 Lt 74,850 74,150 700
01 At 22l 61,350 59,150 2,200
OHM29sl ERMAEAAS 3 &F&E
70,0003 *23H *53] 8,050
OHM29al E2H SAX S AL (MESH)
8,000& x1,000& 8,000
OHM29al E2H EAH, 22 ME 6,000
OM29sl E2M MIHE FLIS + 3,000
OHM29sl E2H EE(SIIFAESTETE) 36,300
03 &AL Z I 13,500 15,000 A 1,500
— 14 —




2N
X ZH -
L= B

el

22t
s =X =4

fol
=)
)l
°
M

Hel =M N

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
Os8 Us &H 13,500
307 QI2t0| ™ 334,000 330,000 4,000
02 DI2HEAAIEE X 34,000 30,000 4,000
OHM223 822 3= AU 20,000
OM293 E2H HAXHUHS 3,000
OHM293 =2 M Ol thal 4,000
OM293 E2HM s52 s24H 3,000
O=2M &S =24 4,000
04 DIZHSHAFAIRE 2 X 300,000 300,000 0
OM293 ==2H 300,000
401 Al HI YL 2 0HHI 65,000 65,000 0
01 A& HI 65,000 65,000 0
E2 Lls &H JIBAIEZ2AHED], =&) 15,000
OM293 =2 M RUEX 4 50,000
FSHoIgE 28 & XA 128,104 105,965 22,139
101 2124 1| 2,224 2,085 139
04 JI2ZtH2E2XNEE S 2,224 2,085 139
OZgR =H ==Y R (BEQUR)
138,980 & 2 x4 x23| 2,224
201 L2 9| 74,880 82,880 A 8,000
01 At 22l Yl 2,880 2,880 0
OXNYg=s=HsSE/AS 3o &
70,000& *7H x23] 980
OsHE MRES ¢ 1,900
03 SHAIS H I 72,000 80,000 A 8,000
Oodd st sae 22l s 72,000
202 04| 1,000 1,000 0
01 2L Y| 1,000 1,000 0
OARE=EM "I L NE2S 1,000
401 Al HI 2L 2 0HHI 50,000 20,000 30,000
01 A& HI 50,000 20,000 30,000
OYd stoHEE &2l FH JIEtAIE S AL
(®I],2=%) 20,000
OF&RY == X & HHE % 30,000
INZIHEER2SH 32,000 0 32,000
T 12,000
Al 20,000
307 QI2t0| ™ 32,000 0 32,000
T 12,000
Al 20,000
04 QI2SHALAIE B = 32,000 0 32,000
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